


I 

STANDARD PARTS 

Port No. Description 

N 10021 2
 

N 10058 1
 

100591
 

100622
 

10063 1
 

N 10072 1
 

N 10 110 1
 

N 10 120 2
 

N 10127 1
 

N 10 137 1
 

N 10 1402
 

N 10 156 3
 

N 10 171 1
 

N 10 205 2
 

N 10 206 1
 

N 10 208 2
 

N 10209 1
 

N 10210 7
 

N 10211 1
 

N 102123
 

N 102154
 

N 1 2168
 

N 10219 1
 

10221 2
 

N 102223
 

N 10224 1
 

N 10226 1
 

10 2303
 

N 10237 5
 

N 10238 7
 

N 102390
 

102404
 

102413
 

N 10 242 5
 

10244 1
 

N 10247 3
 
N 10249 1
 

N 102524
 

10254 6
 

10261 1
 

10277 1
 

N 10313 2
 

N 103404
 

Nl03462
 

""VO~ I lfI~nl 9
 

Bolt, hex. hd. M 10 x 45, 25 DIN 70 613 gall/.
 

Bolt, hex. hd. M 10 x 15 DIN 70614
 

Bolt, hex. hd. M 10 x 18 DIN 70614
 

Bolt, hex. hd. M 10 x 28 DIN 70614
 

Bolt, hex. hd. M 10 x 30 DIN 70614
 

Bolt. hex. hd. M 10 x 1 x 28 DIN 70614
 

Bolt, hex. hd. M lOx 1 x 10 DIN 961 golv.
 

Bolt, hex. hd. M 12 x 15 x 20 DIN 961
 

Bolt, hex. hd. AM 12 x 1.5 x 30 DIN 960
 

Bolt, hex. hd. M 12 x 1.5 x 35 DIN 960
 

Bolt, hex. hd. M 12 x 1.5 x 40 DIN 960
 

Bolt, hex. hd. BM 12 x 1.5 x 70 x 30 DIN 960
 

Bolt, hex. hd. M 8 x 32 DIN 960
 

Bolt, hex. hd. M 5 x 10 DIN 933 golv.
 

Bolt, hex. hd. M 5 x 6 DIN 933
 

Bolt, hex. hd. M 6 x 8 K DIN 933
 

Bolt, hex. hd. M 5 x 25 DIN 933
 

Bolt, hex. hd. M6 x 10 K DIN 933 galv.
 

Bolt, hex. hd. M 6 x 12 Sz DIN 933
 

Bolt, hex. hd. M 6 x 12 DIN 933 golv.
 

Bolt, hex. hd. M 6 x 15 DIN 933 golv.
 

Bolt, hex. hd. M 6 x 18 DIN 933 golv.
 

Bo)t, hex. hd. M 6 x 28 DIN 933
 

Bolt, hex. hd M 6 x 35 DIN 933 golv.
 

Bolt, hex. hd. M 6 x 22 DIN 933 golv.
 

Bolt, hex. hd, M 6 x 13.5 DIN 933
 

Bolt, hex. hd. M 7 x 10 DIN 933
 

Bolt, hex. hd M 10 x 30 DIN 933 golv.
 

Bolt, hex. hd. M8 x 12 DIN 933 goll/.
 

Bolt, hex. hd. M 8 x 15 DIN 933
 

Bolt, hex. hd. M 8 x 18 DIN 933 galv,
 

Bolt, hex. hd M 8 x 20 DIN 933 golv.
 

Bolt, hex. hd. M 8 x 22 DIN 933 golv.
 

Bolt, hex. hd. M 8 x 25 DIN 933
 

Bolt, hex. hd. M 8 x 30 DIN 933
 

Bolt, hex. hd. M 8 x 35 DIN 933 golv.
 

Bol t, hex hd. M 10 x 15 DIN 933
 

Bolt, hex. hd. M 10 x 20 DIN 933
 

Bolt, hex. hd M 10 x 25 DI 933
 

Bolt, hex. hd. M 4 x 15 DIN 933 galv.
 

Boll, hex. hd. M 7 x 22 DIN 933
 

Bolt, hex. hd. BM 6 x 85 DIN 933
 

Bolt, hex. hd. M 8 x 40 DIN 931
 

Bolt, hex. hd. BM 6 x 30 DIN 931
 

Type 3 N-J 



N 10 348 3
 

I 10 3492
 

N 103503
 

N 103522
 

N 10 3602
 

N 10 390 1
 

N 10 440 1
 

10445 1
 

N 10 448 2
 

N 10 450 1
 

I 10 4522
 

N 10 460 1
 

N 10465 1
 

10470 1
 

~~ 10495 1
 

N 10 500 1
 

10688 1
 
N 106891
 

N 10695 1
 

t-l 10697 1
 

N 10698 1
 

N 10700 1
 

N 10702 1
 

N107032
 

10 704 2
 

10710 1
 

N1U7143
 

N107152
 

N 10724 1
 

N 10 778 1
 

N 10 802 2
 

N 10803 1
 

N 10811 1
 

N 0901 2
 

10903 1
 
109043
 

10 905 1
 

N 10984 1
 

10 988 1
 

N 10 999 1
 

N 11 0042
 

11 004 3
 

N 11 0052
 

N 11 0062
 

N 11 007 1
 

Bol , hex. hd. BM 6 x 43 DIN 931 golv. 

Bolt, hex. hd. BM 6 x 45 DIN 931 galv 

011, hex. hd. BM 8 x 50 DIN 931
 

Bolt, hex hd. BM 8 x 55 DIN 931 galv.
 

Boll, hex. hd. BM 8 x 60 DIN 931 golv.
 

Bolt, hex hd. BM 8 x 95 DIN 931
 

Bolt, hex. hd. M 10 x 40 DIN 931
 

Boll, hex. hd. 10 x 45 DIN 931
 

Bol I, hex hd. M lOx 48 DIN 931
 

Bolt, hex. hd. M 10 x 50 DIN 931
 

Bolt, hex. hd. BM 10 x 52 DIN 931
 

Boll, hex hd. M 19 x 60 DIN 931
 

Bol , hex. hd. M 10 x 65 DI 931
 

Bolt, hex hd M 10. 70 DIN 931
 

Screw, cheese hd. AM 4 x 2 DIN 84 golv.
 

Screw, cheese hd, AM 5 x 12 DIN 84 golv.
 

Screw, cheese hd AM 5 x 5 DI I 84
 

Screw, cheese hd AM 4 x 8 DIN 84 golv.
 

Screw, cheese hd. AM 5 x 10 DIN 84 galv.
 

Screw, cheese hd. AM 6 x 10 DIN 84 golv.
 

Screw, hee~e hd, AM 6 x 12 DIN 84 galv,
 

Screw, cheese hd. AM 6 x 15 DIN 84 galv.
 

Screw, cheese hd. AM 5 x 40 DIN 84 golv,
 

Screw, fillister hd. M 3 x 3.5 DIN 920 golv,
 

Bolt, hex. hd. M 10 x 170 DI 931
 

Bolt, hex. hd. M 10 x 110 DIN 931
 

Screw, cheese hd. A,"/o. 3 x 8 DIN 84
 

Screw, cheese hd AM 3 x 18 DIN 84 galv
 

Screw, cheese hd AM 4 x 6 DIN 84 galv.
 

Screw, cheese hd. AM 4 x 10 DIN 84
 

Screw, fillister hd. AM 3 x 6 DIN 85
 

NUl, hex M 4 DIN 934 golv
 

Nut, hex M11 DIN 934 galv. left-hand thread
 

Nut, hex. M 5 DIN 934 galv.
 

Nut, hex, M 6 DIN 934 galv
 

Screw, fillisTer hd. AM 3,5 x 10 DIN 85
 

Screw, fillister hd. AM 5 x 8 DIN 85 golv.
 

Scre ',csk hd AM 3 x 8 DIN 63 chrome
 

Screw, csk. hd, AM 3,5 x 8 DIN 63
 

Screw, csk. hd. /).M 3,5 x 6 DIN 63 galv.
 

Screw, csk hd. AM 3.5 x 5 DIN 63
 

Screw, csk. hd AM 6 x 1001 65
 

Screw, csk hd. AM 6 20 DIN 63 golv.
 

Screw, csk. hd AM 10 x 13.5 DIN 63
 

NUl, hex_ M 7 DIN 934
 

l'yp .. 3 N-2 



Nl\0088 

Nl10104
 

N 110182
 

N 11 0202
 

11 062 3
 

N 11 106 1
 
N 11 114 1
 

N 11 1187
 

N111203
 

N 11 1322
 

N 11 1342
 

11 137 1
 

N 11 1422
 

N 11 151 2
 

N 11 152 1
 

11 157 1
 

N 11 162
 

'>i 11 1632
 

I 11 1633
 

11 16 2
 

11 164 3
 

11 1653
 

11 166 1
 

N 11 173 1
 

N 1\ 210 1
 

N 11 2122
 

N 11 246 1
 

N 11 362 1
 

I 365 1
 

N 1 367 2
 

N 11 372 3
 

N 11 377 1
 

N 11380 1
 

N 11 4051
 

N 11407 1
 

N 11 60 1
 

N 11 4663
 

N 11521 I
 

N 11 522 2
 

N 11 523 3
 

N 11 52Ll4
 

N 11 5252
 

N 1 5262
 

N 11 527 1
 

N 11 528 1
 

N 11 531 1
 

N 1 5332
 

Nut. hex. M 10 DIN 934 galv.
 

ul, hex. M 8 DIN 934 galv.
 

Nut. hex. M 8 x 1 DIN 934 ga Iv.
 

NUl, hex. M 12 x 1.5 DIN 934
 

Cap nul M 6 DIN 917 galv.
 

Nut, hex, AM 6 DIN 934
 

Nut, hex BM 4 DIN 439 galv.
 

ut, hex. BM 8 DIN 439 galv.
 

Nut, hex. BM 10 DIN 439
 

Nut, hex M 8 DIN 70 616 galv.
 

Nut. hex. M 10 DiN 70616
 

ul, hex M 10 x 1 DIN 70615 

Cop nut M 6 DIN 986 chrome 

Nut, hex M 8 DIN 936 galv. 

ut, hex. M 8 x DIN 936
 

'u., hex M 10 x 1 DIN 936 galv.
 

Nut, hex. M 12 x 1.5 DIN 936
 

NUl, he ' M 14 x 1,5 DIN 936 left-hand thread
 

Nut, hex. M 14 1.5 DIN 936
 

Nut. hex. M 16 x 1.5 DIN 936
 

Nut, hex. M 16 x 1.5 DIN 936 left·hand thread
 

Nut, hex. M 18 x 1.5 DIN 936
 

NUl, hex, M 20 x 1.5 DIN 936
 

Wing nut M 5 DIN 315
 

Nut, f>lolted Iv 10 X 1 DIN 937
 

Nut, slotted M 12 x 1 5 DIN 937
 

Screw, button hd. AM 4 x 6 DIN 86 golv.
 

Tapping Screw, cheese hd. BZ 22 x 6.5 DIN 7971'
 

Topping screw, cheese hd. B 2.9 x 9.5 DIN 7971
 

Topping screw, cheese hd B 3.5 x 9.5 DIN 7971 galv,
 

TappinG screw, cheese hd. B 3.9 x 65 DIN 7971 galv.
 

Tapping screw, cheese hd. B 3,9 x 25 DIN 7971
 

Taaping screw,cheese hd. 84.2x9.5 DIN 7971 chrome
 

Speed nut AM 6
 

Speed nul A,M 8
 

T pping screw, csk. raised hd. B 3.5 x 13 DIN 7973 galv.
 

Tapping Screw, csk hd. B 3.9 x 13 DIN 7973
 

Washer A 3.7 DIN 125
 

Washer A 4 3 DIN 125 galv
 

Washer A 53 DIN 125 galv.
 

Washer A 6.4 DIN 125
 

, asher A 8 DIN 125
 

Washer 13 8.4 DIN 125 golv
 

Washer A 10,5 DI 125 galv.
 

Washer B 10.5 DIN 125
 

Washer A 13 DIN 125
 

Washer A 7 4 DIN 125
 

T y p e 3 N - 3 
5<.1I:q... lomcnt 9
 



11 555 1
 

11 5572
 

N 11 558 1
 

N 11 5602
 

11 567 1
 
N 11 578 1
 

N 11 584 1
 

N 11 605 1
 

N 11651 1
 

N 11 652 1
 

11 6542
 

!,J 11 664 1
 

I\J 11 670 1
 

N 11 692 '2
 
N 11 6952
 

N 11 701 1
 

N 11 734
 

N 11 758 1
 

N 12003 1
 

12 004 1
 

N 120051
 

N 120062
 

12 008 2
 

2009 1
 

N 12 011 2
 

N 120122
 

120131
 

12038 1
 

12 056 1
 

N 12097 1
 

N 12 1042
 

N 12 105 1
 

N 12 108 2
 

N 12 1 0 1
 

12 11
 

N 12 12 1
 

12 113 1
 

N 12 115 1
 

N 12 116 1
 

N 12 121 2
 

12 127 2
 

N 12 1282
 

N 12 131 2
 

N 12 134 2
 
12223 1
 

N 12 224 1
 

N 12 225 1
 

J 122262
 

N 12227 3
 

Washer 43 DIN 433
 

Washer 6 4 DIN 433
 

Washer 8 4 DIN 433
 

Washer 10.5 DIN 433 galv.
 

osher 17 DIN 433
 

Concave washer 3.7
 

Concave washer 5.8
 

ExpanSion plug 38 DIN 470
 

Washer 5.8 galv.
 

Washer 7 golv
 

Washer 9.5 galv.
 

Washer 4.1
 

'lasher 8.1
 

Washer 5. 1 galv.
 

Washer 6.1 galv.
 

Cone washer A 4.4 chrome
 

Screw, csk. hd. AM 4 x 8 DIN 87 galv.
 

Screw, csk. hd, AM 6 x 22 DIN 87
 

Sprtng washer A 4.3 DIN 6797 galv.
 

Spring washer A 6.4 DIN 6797 galv.
 

Saring washer V 6.4 DIN 6797 galv.
 

Spring washer J 3 7 DIN 6797 galv.
 

Spring washer B 5 DIN 137 galv.
 

Spring washer B 6 DIN 137 galv.
 

Sprinq washer A 6 DIN 137 qalv.
 

Lock washer D 3 DIN 127
 

Lock washer B 4 DIN 127
 

Lock washer B 5 DIN 127 galv.
 

Lock washer 86 DIN 127 golv.
 

Lock washer B 8 DIN 127 galv.
 

Lock washer A 8 DIN 127
 

Lock washer A 10 DIN 127 galv.
 

Lock washer B 12 DIN 127
 

Lock washer B 7 DIN 127
 

Leek washer 8
 

Clamping plate 6 galv.
 

Spring washer, A 4.3
 

Spring wosher A 5.3 DIN 6798 golv.
 

Spring washer A 6.4 DIN 6798
 

Spring washer A 8.4 DIN 6798 golv.
 

Spring washer A 10.5 DIN 6798 galv.
 

Spring washer J 10.5 DIN 6798
 

Spring wa her J 12,5 DIN 6798
 

Spring wosher V 5.3 DIN 6798 galv.
 

Spring wosher A 19 DIN 6798
 

Sprtng washer V 4.3 DIN 6798
 

Spring washer A 7.4 DIN 6767
 

Spring washer A 3 DIN 137
 

Sprtng washer B 4 DIN 137
 

Sup~ C "'Cnt ,., 

Typo N - 4 



N 12 228 2
 

N 12 229 I
 
122302
 

N 12231 1
 

N 12232 1
 

N 12 234 1
 

N 122382
 

N 12 239 1
 

N 12240 1
 

N 12241 2
 

N 12 242 1
 

N 12 276 1
 

N 12 307 J
 

N 12319 1
 

N 12 320 1
 

12325 I
 
N 12 327 1
 

N 12329 1
 

N 12405 1
 
N 12 408 1
 

N 12 416 1
 

N 12418 I
 

N LL 419
 

N 12420 1
 
J 12 424 1
 

N 12 432 1
 

12 433 1
 

N 12 434 1
 

N 12 435 1
 

N 1 4362
 

N 12437 1
 

N 12438 1
 

N 12 455 1
 

N 12 460 1
 

N 12 507 I
 

N 12512 1
 

N 12 522 1
 

N125321
 

N 12 542 1
 

N 12 545 1
 

N 12 5452
 

N 12646 1
 

N 12 705 1
 

N 12801 1
 

N 12 810 1
 

N 12825 1
 

N 12834 1
 

N 12 855
 

Spring washer B 8 DIN 137 galv. 

pring washer A 8 DIN 137 galv.
 

Spring wa -her B 10 DIN 137 galv.
 

Spring washer /J. 10 DIN 137
 

Spring washer B 12 DIN 137
 

Spring washer B 7 DIN 137
 

Spring washer B 16 DI~J 137
 

Spring washer B 18 DIN 137
 

Sprang washer B 20 DIN 137
 

Spring washer B 8 x 15 DIN 137 go Iv.
 

Spring washer B 10 x 18 DIN 137
 

Lockrang A 22 DIN 73 123
 

Lockring 17 x 1 DI 472
 

Lackring 62 x 2 DIN 472
 

Lockring 65 x 2.5 DIN 472
 

Lock wa her 4
 

Lock washer 6
 

SPri n9 wa sher 9
 

Lackring 5 x 0.6 DIN 471 galv.
 

Lockring 8 x 0.8 DIN 471
 

Lockring 16 x 1 DIN 471
 

Lockring 18 x 1.2 DIN 471
 

Lockring 19 x 1.2 DIN 471
 

Lockring 20 x 1 2 DIN 471
 

Lockring 24 x 1.2 DIN 471
 

Lock washer 2.3 DIN 6799
 

Lock washer 3.2 DIN 6799 galv.
 

Lock washer 4 DIN 6799
 

Lock washer 5 DIN 6799
 

Lock washer 6 DIN 6799 golv.
 

Lock washer 7 DIN 6799
 

Lock washer 9 DIN 6799
 

Ci rcllp 5 DI N 9045 galv.
 

ClTclip 14 DIN 9045
 

Cotter pin 1.5 x 15 DIN 94
 

Coller pin 2 x 12 DIN 94
 

Cotter pin 2 x 22 DIN 94
 

Cotter pin 3 x 25 DIN 94
 

Co er pin 5 x 45 DIN 94
 

Cotter pin 5 x 45 DIN 94
 

Coller pin 3 x 70 DIN 94
 

Spring washer 6
 

Woodruff key 3 x 5 DIN 6888
 

Pin 10 x 40 DIN 1472
 

Dowel pin, grooved 3 x 10 DIN 1473
 

Dowel pin grooved 4 x 25 DIN 1473
 

Grooved pin self.locking 6 x 30 DIN 1475
 

Clamping plate 5
 

Type 3 - 5 
Sup~le,"e,,' 9
 



N 12858 1
 

N 13010 1
 

N 13 042 2
 
N 13044 1
 

N 13074 1
 

N132161
 

N 13271 1
 

N 13 275 1
 

N 13277 1
 

N 13322 1
 

N 13 324 1
 

N 13327 1
 

N 1~ 328 1
 

N 13 331 1
 

N 13 345 1
 

N 13 348 1
 

N 13 506 3
 

N136251
 

N 13 530 2
 

N 13634 1
 

N 13 648 1
 

N 13649 1
 

N 13 657 1
 
N 13661 2
 

N 13 666 1
 

N 13 736 3
 

N 37923
 

N 13802 1
 

N 1380 2
 
N 13807 1
 

Nl3811l
 

N138141
 

N138142
 

N 138152
 

N 13816 1
 

N 13817 1
 

N 138231
 

N 13830 1
 

N 138302
 

N138361
 

N 13840 1
 

N 13 856 1
 

N 138902
 

N 13937 1
 

N 13948 1
 

N 139562
 

N139573
 

N 139583
 

Clamping plate 8
 

Rivet body AN 4 x 8 x 6 DIN 7331 galv.
 

R,v t A 3 x 5 DIN 7338 galv.
 

Rivet-head K 4 x 11 DIN 7331 galv,
 

Rivet C 4 x 7.5 DIN 7338 galv
 

Tapping screw, fill,ster hd. B 5.5 x 25 DI 7981 galv.
 

Toppll1g screw, fillister hd. B 3.5 x 6.5 DIN 7981 golv.
 

Topping screw, BZ 3.5 x 9.5 DIN 7981 golv.
 

Stud M 5 x 12 DIN 438 galv.
 

51 ud M 3 x 5 DIN 4 17
 

Stud M2.6 x 8 DI 417
 

Slud M 3 x 5 OJ I 551 gaiv.
 

Dowel pin 4 x 14 DIN 7
 

Pin 8 x 24 DI 1434
 

Pin 10 x 42 DIN 1434
 

Pin 10 x 30 DIN 1434
 

Pin 2. 5 x 10 DIN 1481
 

Pin 2,5 x 18 DIN 1481
 

Pin 3 x 18 DIN 1481
 

Pin 3 x 20 DIN 1481
 

Pin 2 x 12 DIN 1481
 

Pin 5 x 32 DIN 1481
 

Pin 3 24 DIN 1481
 

Rivel C 8 x 4 DIN 7338
 

Ri 'et C 8 x 22 DIN 7338
 

Rivet A 3 6.5 DIN 7338
 

Rivet B 4 x 8 DIN 7338 galv,
 

Rivel B 4 x 32 DIN 7338 galv,
 

Rivel3 x 6 DIN 662
 

Rive! 4 x 0.4 x 7 DIN 7603
 

Gaskel A 5 x 9 DIN 7603
 

Sealing washer A 6 x 10 DIN 7603
 

Seal A 8 x 11.5 DIN 7603
 

Seal A 10 x 13.5 DIN 7603
 

Seal p, 14 x 18 DIN 7603
 

Seal A 14 x 18 x 1.5 DIN 7603
 

Seal C 14 x 20 DIN 7603
 

Seal A 18 x 24 DIN 7603
 

Seal C 18 x 22 DIN 7603
 

Seal C 28 x 34 Dil 7603
 

Seal A 8 x 14 DIN 7603
 

Seal A 8 x 12 DIN 7603
 

Seal C 36 Yo 42 DIN 7603
 

Seal 0 10 x 16 DIN 7603
 

Plug, slotted M 16 x1.5 DIN 71 022
 

TOPPing screw, hex, hd, B 6.3 x 13 DIN 7976 galv
 

Tapping screw, fillister hd. B 5.5 x 32 DIN 7981 gal v
 

Tapping screw, fillisler hd, B 3.5 x 13 DIN 7981 galv.
 

T YI''' 3 N - 6
 

SUPI-I"menl 9
 



N 13 961 2 

N 13965 1 

N 3966 1 

N 13 967 1 

N 13968 1 

N 13969 1 

N 13 971 1 

N 13974 1 

13978 1 

N I·~ 001 1 

N 14 as 1 

N 14 079 9 

N 1 0851 

N 14 087 3 

N 14 094 2 

N 14 0993 

N 14108 1 

N141112 

N141174 

14 118 1 

, l' 121 2 

14 1228 

14 1233 

14 125 1 

1-1 1274 

1·. 130 1 

I 14 131 ? 

N 14 1'4 1 
I 14 13e 9 

14 140 5 

NI~1412 

14 150 1 

N142122 

N 14216 1 

N l' 2165 

N 4 225 1 

N 14 256 1 

N l-i 257 1 

N 14 2633 

N 1-1 265 4 

N1.l2675 

N 14 275 1 

~~ 14 276 1 

N142792 

~I 14 329 1 

N 11 333 1 

N 1.1 ~89 3 

1i J953 

TopPing screw, filiister hd. B 3.9 x 13 DI 17981 galv. 

TapPing screw, fillister hd B 4.2 x 9.5 DIN 7981 go v. 

Tapping screw, fillister f-td. B 4.2 x 13 DIN 7981 galv 

Topping screw, fillister hd B 4.2 x 19 DI 7981 galv. 

TapPing screw, fillister hd. B48 3 DI 7981 chrome 

Topping screw, fl/lister hd. B 4.8 x 16 DI 7981 golv 

TOPPing screw fill,ster hd. B 48 x 22 DIN 7981 galv. 

Topping scre'N, fillister hd. B 5.5 x 19 DI 7981 galv 

Topping screw, fillister hd. B 4.8 55 DIN 7981 galv 

Tapping screw, csk. hd. B 4.8 x 25 DiN 7982 golv 

Fastener B 9 galv. - Hose connection strip 

Strip - Hose connection C 9 galvo 

Topping screw, csk. rai sed hd. B3.5x9.5 DIN 7983 chrome 

Topping screw, csk. roi sed hd. B35x16 DIN 7983 chrome 

Topping screw, csk. rOlsed hd. B4.2x16 DIN7983 golv 

Topping screw, csk raised hd. B 4.8 x 13 DIN 7983 

Tapping screw, csk. roi sed hd. BS.Sx16 DIN7983 chrome 

Screw, flil,ster hd. AM 3 x 12 DIN 7985 chrome 

Screw, fillister hd. AM 4 x 15 DIN 7985 chrome 

Screw, fillister hd, AM 4 x 28 DIN 7985 chrome 

Screw, fillister hd. A,v., 4 x 6 DIN 7985 chrome 

Sc:rew, fdlisler hd AM 4 x 8 DIN 7985 galv 

Screw, filhster hd. AM 4 x 10 DIN 7985 galv. 

Screw, fill :iter hd AM 4 x 18 DIN 7985 chrome 

Screw, fillister hd. AM 5 6 DIN 7985 

Screw, filii ter hd. ~M 5 x 11 DIN 7985 goiv 

Screw, f,lllster hd. AM 5 x 15 DIN 7985 galv. 

Screw, fdlisfer hd BM 4 x 45 DIN 7985 chrome 

Screw, fillister hd. A.'vI 6 x 10 DIN 7985 galv, 

Sere ... fillisler hd. AM 6 x 15 DIN 7985 galv. 

Scre-w, fillister hd AM 6 x 18 DIN 7985 galv. 

Screw, fillister hd. 8M 4 x 85 DIN 7985 chrome 

Sere.... , csk. hd. AM 4 x 20 DIN 7987 galv, 

Screw, csk hd A 5 x 10 DIN 7987 chrome 

Screw, csk hd. AM 5 x 10 DIN 7987 galv. 

Screw, csk. ral sed hd. AM 4 x 12 DIN 7988 chrome 

Screw, csk. raised hd. AM 4 x 18 DIN 7988 golv, 

Screw, csk. raised hd. AM 4 x 8 DIN 7988 golv. 

Scr v, csk. raised hd AM 5 x 8 DIN 7988 

Screw, csk. raised hd. AM 5 x 12 DIN 7988 

Screw, csk. raised hd AM 5 x 18 DIN 7988 chrome 

Screw, csk. rai sed hd. AM 6 x 10 DIN 7988 golv. 

Screw, csk. ral sed hd. AM 6 x 12 Dl 7988 chrome 

Screw, csk rai sed hd AM 6 x 20 DIN 7988 

Bolt, hex. hd. M 8 x 20 

Bolt, hex. hd. M 10 x 27 

Clip 

51 ud AM 8 A x 42 

T Ypt' 3 N - 7 
SLI J IOUIO,1' 9 



N 14 3959
 

N 14 3963
 

N 14 397 9
 

N 14 398 2
 
N 14 399 2
 

N 14 400 3
 

N 14401 3
 

N 14 402 1
 

N 14 407 1
 

N 1 4082
 

N 14412 1
 

N 14 418 1
 

N144191
 

N 14 421 1
 

N 14 4283
 

N 14 434 1
 

N 14 4434
 

N 14 444 1
 

N 14 448 1
 

N 14 449 1
 

N 14 45 2
 

N 14452 1
 

N 14 459 1
 

N 14469 1
 

14478 1
 

N 14 480 1
 

N144812
 

N 14 482 1
 
N 14 483 1
 

N 1tl 4843
 

N 14 485 1
 

N 14 486 1
 

N144912
 

N144921
 

N 14 494
 

N 14495 1
 

N 14496 1
 

14 499 1
 

N 1 500 1
 

N 115011
 
N 14 50:2 1
 

N 14 SO 1
 

N145061
 

N 1 • 507 1
 
N145161
 

N 14 518 1
 

N 14 _24 1
 

N 14 525 1
 

Stud AM A x 42
 

Stud AM 8 A x 50
 

5tud AM 8 A x 56
 

Stud AM 8 A x 27
 

Stud AM 8 A x 97
 

Stud AM 8 A x 35
 

Stud AM 6 A x 31
 

Stud CM 8 A M 6 x 31
 

Stud AM 8 A x 62
 

Stud CM 10. A M 8 x 62
 

St!Jd CM 12 x 1.5 A/M 10 x82
 

Stud AM 8 A x 127
 

Stud AM 8 A x 112
 

Stud AM 10 A x 223
 

Stud AM 8 A x 48 galv.
 

Stud AM 6 A x 28
 

Stud AM 8 A x 38
 

Stud AM 8 A x 125
 

Stud AM 7 x 22
 

Stud AM 7 A x 32
 

Stud AM 6 A x 23
 

Stud CM 8 A· M 6 x 23
 

Stud BM lOA x 45
 

Stud BM 8 B x 45
 

S ud CM 8 A M 6 x 21
 

Stud CM 12 x 1.5 AIM 10 x 42
 

Stud CM 10 A M 8 x 112
 

Stud CM 10 AiM 8 x 27
 

Stud CM 10 A'M 8 x 38
 

Stud CM 10 AIM 8 x 48
 

Stud CM 10 AIM 8 x 97
 

Stud CM 10 AM 8 x 125
 

Stud eM 10 AIM 8 x 56
 

S ud CM 10 AI M 7 x 32
 

Stud CM 12 x 1,.5 AI M 10 x 188
 

Stud CM 12 x 1 5 A M 10 x 240
 

Stud CM 14 x 1.5 A/M 12 x 1.5 x 154
 

Stud AM lOB x 28
 

Stud AM 12 x 15 A x 141
 

Stud AM 12 x 1 5 A x 156
 

Stud AM 10 A x 204
 

Stud AM 10 A x 188
 

Stud AM 10 A x 240
 

Stud AM 10 A)( 208
 

Stud AM 12 x 1.5 A x 166
 

Stud AM 10 A x 35
 

Stud AM lOA x 46
 

Stud AM lOA x 85
 

Typ N - 8 



N 14 5322
 

N 14539 1
 

N 4 542 1
 

N 14 543 1
 

N 14 545 2
 

N 14 558 1
 

N 14 560 1
 

Nl15612
 

N 14 563 1
 

N 14 565 1
 

N 14 566 1
 

N 14 568 1
 

N 14569 1
 

N 14 571 1
 

N 14 709 1
 

N 14711 1
 

N 14 7132
 

14714 1
 

N 14 761 1
 

N 14905 1
 

N 15 188 1
 

N 15 193 1
 

N 15371 1
 

N 15 421 1
 

N 154222
 

N 15423 1
 

N 15424 1
 

N 15430 1
 

N 15 431 1
 

N 158902
 

N 15891 1
 

N 15 892 1
 

N159122
 

N159132
 

N 15941 1
 

N159421
 

N 16 160 2
 

N 16 195 1
 

N 16215 1
 

~J 17 121 1
 

N 17 121 4
 

17 121 5
 

N 17 471 0
 

17705 1
 

N 17 705 lZ
 

N 177052
 

177052Z
 

N 17 705 3
 

Stud AM 8A x 32
 

Stud AM 6 A x 56
 

Screw, cheese hd. M 8 x 22 DIN 912 golv.
 

Screw, cheese hd. M 8 x 65 DIN 912 galv.
 

Screw, cheese hd. M 8 x 35 DIN 912 galv.
 

Screw, cheese hd. M 8 x 60 DIN 912 golv.
 

Lock washer 8.4
 

Speed nut B 4.8
 

Speed nut B 4.2
 

Speed nut B 5.5 galv.
 

Speed nut A 5.6
 

Speed nut B 4. 2 go Iv.
 

Speed nut 5.5
 

Topping screw, fillister hd. A 4.9 x 13 DIN 7981 galvo
 

Topping screw, fillister hd. A 4.9 x 16 DIN 7981 galv.
 

Topping screw, fillister hd. A 4.9 x 19 DIN 7981 galv.
 

Topping screw, csk. hd A 6.5 x. 25 DIN 7983 chrome
 

Topping screw, csk. hd. A 4.3 x 22 DIN 7983 galv.
 

Topping screw, hex., hd, A 5.6 x 22 DIN 7976 galv.
 

Topping screw, hex. hd. A 5.5 x 45 DIN 7976 galv.
 

Bulb A 6 Y 45/40 WDIN 72 601 (Germony only)
 

Bulb A 6 Y 45/40 WDIN 72 601 (Export only)
 

Bulb A 6 Y 45/40 IN DIN 72 601 (yellow gloss)
 

Bulb A 6 Y 45 / 40 W DIN 72 601 (yellow gloss)
 

Bulb A 12 Y 4940 WDIN 72 601 (Germany only)
 

Stud AM 6 A x 21
 

Stud AM 6 A x 33
 

Stud AM 6A x 36
 

Stud AM 10 A. x 78
 

Stud eM 10 A/M 8 x 42
 

Stud eM 10 AIM 8 x 30
 

Stud CM 14 x 15 AIM 12 x 1.5 x 140
 

Stid CM 8 AIM 6 x 56
 

Stud CM 10 A/M 8 x 51
 

Stud CM 12 x 1.5 AIM 10 x 204
 

Stud CM 12 )( 1.5 A/M 10 x 208
 

Stud CM 14 x 1.5 />,/M 12 x 1.5 x 166
 

Screw, cheese hd. M 6 x 12 DIN 6912
 

Seal A 24 x 37 x 7 DIN 3760
 

Grooved pin 2.6 x 4 DIN 1476 galv.
 

Grooved pin 4x 18 DIN 1476
 

Plug CM 10 x 1
 

Rjevet 4 x 8.5
 

Rivet AK 3.2 x 9.3
 

Fuse 8 DIN 72 581
 

Fuse 16 DIN 72 581
 

Fuse 25 DIN 72 581
 

Connector DIN 72 586
 

Type 3 N - 9 



17 705 3Z 

N	 17 7054Z
 

17 717 1
 

17 717 2
 

N 17 718 1
 

N177182
 

N 17 719 1
 
I
 17 719 2
 

17722 1
 

177222
 

N 17 723 1
 

N177232
 

N 17731 1
 

N177312
 

N 17 732 2
 

N 17 737 1
 

N 17 737 2
 

N 17 7382
 

N 17751 i
 

177512
 

1B 004 1
 

18006 1
 
10009 1
 

N 180 I 1
 
N 18 057 1
 

N 10203 3
 

N 18227 7
 

N 18 231 1
 

N 182488
 

N 182533
 

N 18 263 3
 

10 ·82 1
 

N 18515 1
 

N 18 523 1
 

N200':23
 

N 20025 1
 

N 20 027 1
 

20 082 1
 

N 20 091 1
 

N _' 53 1
 

1'; 20355 1
 

N 0357 1
 

N 20 358 1
 

N 2U 363 1
 

N 20366 1
 

N 20 370 1
 

N 20 374 1
 

N 2u 376 1
 

Bulb A 2 V 45 40 WDIN 72 601 (Export only)
 

Bulb A 12 V 45 40 W DIN 72 601 (yellow glass)
 

Buib HL 6 V 4 WDIN 72 601
 

Bulb HL 2 V 4 W DIN 72 601
 

Bulb G 6 5 WDIN 72 601
 

Bulb G 12 V 5 DIN 72 601
 

Bulb G 6 V 10 W DIN 72 601
 

Bulb G 12 V 10 WDIN 72 601
 

Bulb J 6 V 1.2 WDI 72 601
 

Bulb J 12 V 2 WDI 72 601
 

Bulb K 6 V 10 WDIN 72 601
 

Bulb K 12 V 10 WDIN 72 601
 

Bulb R 6 V 18 WDIN 12 601
 

Bulb R 12 V 18 WDIN 72 601
 

Bulb RL 12 V 21 WDIN 72 601
 

BulbS6V 18 5WDIN72601
 

Bulb S 12 V 18 5 WDIN 72 601
 

Bulb SL 12 V 21 5 WDIN 72 601
 

Bulb JG 6 V 1 2 W
 

Bulb JG 12 V 1 2 W
 

Proleclive lublng 4 mm dlo (only in cods of 5 m - 164 It - order unit 5)
 

Pro ecli e lubing 6 mm dlo. (only in cods of 5 m - 164 It - order unit 51
 

Pro ecllve tubing 9 mm dio. (only in coils of 5 m - 164 ft - order lin I 51
 

Protective tubing 14 mm dlo. (only in coils of 5 m - 164 ft - order uol! 51
 

Hose 2.5 x 1.75 (only in coils of 5 m - order unit 5)
 

Coble W 0.5
 

Cable W 1. 0
 

Coble W 1. 5
 

Coble 'W 2.5
 

Coble W4
 

Coble W6
 

Ignilion coble Icnly in coils of 50 m - 164 It - order unit 50)
 

Grease nippl A 6
 

rease nipple B 6
 

Plug A 8 1
 

PlugA12x1
 

PlugA15x1
 

Grommet 21.5 x 28
 

Grommet
 

Hose 3 5 x 2 (only in coils of 5 m - 16 1 1 32 ft - order unit 51
 

Hose 5 x 2 5 (only In coils 01 5 m - 16 13 ~:z ft - order unit 5)
 

Hose 7 x 2 5 (only 111 coils ot 5 m - 16 3' 32 fl - order un" 5\
 

Hose 4 x 1. 5 (only in coils of 5 m - 16 13/32 f - order unir 51
 

Ho e 15 x 2.5 (only in coil" of 5 m - 16 13 32 ft - order un" 5)
 

Hose 7.3 x 2.25 (only in coils of 5 rr - 16 13 I ~2 II - order uni I 51
 

Hose 17 x 2.5 (only in coils of 5 m - 16 13 32 ft - order Unit 5)
 

Hose 12 x 3 3 (only In coils of 5 m - 16 13' J2 It - crder un" 5)
 

Ho"e 9 x 3 (only In coils of 5 n' - 1613' 32 It - order unit 5)
 

r yp e 3 N - 10
 



I 20 406 1
 

N 20 4 8 1
 

N 21 055 1
 

21 097 1
 

1 401 1
 

21 503 1
 

23 511 1
 

25 667 2
 

30002 1
 

30055 1
 

30 080 1
 

N 40 319 1
 

N 44 117 1
 

N 44 130 1
 

N 90 112 1
 
N 90 121 1
 

N 90 153 2
 

Hose 263 100
 

Hose 80 x 160
 

Union scre - A 2 3 Dl 7623 galv.
 

Double tapered ring 6 Dl 3862
 

Screw fillis er hd. M 8 x 18 galv.
 

Topping screw, thread cutting M 5 x 12 galv.
 

Clip B 9 x 30 galv.
 

Boll 9 DIN 5401
 

Pliers - Combination
 

Wrench 8 x 1
 

Wrench 27
 

Boll,hex. hd. M lOx 175
 

Screw, fillister hd. BM 4 x 17)( 8 DIN 7985
 

Screw , filiister hd. BM 4 x 72 DIN 7985
 

Bolt, hex. hd. M 10 .28.5 DIN 933/6905
 

Bolt, hex. hd. M 4 x 8 Dr 933/7603
 

Bolt, hex. hd. M 8 x 28 DIN 933
 

Type 3 N - 11
 
s,:.J P tl Ie III 0 r, 9
 



Type 3 N - 12 


